1. A blank circular disk is cut from the square metal stock shown. Determine to the nearest tenth of a cm
the radius of the disk if the area of metal wasted is 300 cm2.

A. The radius is 19.3 cm.
B. The radius is 18.5 cm.
C. The radius is 17.9 cm.
D. The radius is 18.8 cm.
E. The radius is 18 cm.

F. The radius is 19.4 cm.
G. The radius is 18.7 cm.

H. The radius is 18.9 cm.

2. Solve the quadratic equation by completing the square. (Don’t simplify the radical expression.)

26% + 83 — 40 =0

_ 233
A B=—2+ /238

B.A=-2+24
C.B=-2++110
D. 8=24++69

E.3=-24++38



. Solve the quadratic equation by completing the square. (Don’t simplify the radical expression.)

02— 140 —4 =0

L0=T+V19
0=T+,/%
=-7+,/2
.0 =—-7++105
L0=7+V13
.0=—T+94
=7+ /1%
.0=7++53

. Complete the square by filling in the missing number. w? — %w—i—



. Complete the square by filling in the missing number. ¢ 4 4c+
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. Complete the square by filling in the missing number. 2 — 4t+
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. Complete the square by filling in the missing number. 62 + %9—1—
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. Complete the square by filling in the missing number. 72 — %r—i—
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